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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1) The question paper comprises three Sections, A, B and C. There are 30
questions in the question paper. All questions are compulsory.

(it) Section A — all questions / or parts (question no. 1 to 14) thereof in this
section are ome mark questions comprising MCQ, VSA type and
Assertion—-Reason type questions. They are to be answered in one word
or in one sentence.

(iti) Section B — question no. 15 to 24 are short answer type questions,
carrying 3 marks each. Answer to these questions should not exceed 50 to
60 words.

(iv) Section C — question no. 25 to 30 are long answer type questions,
carrying 5 marks each. Answer to these questions should not exceed 80 to
90 words.

(v) Answer should be brief and to the point. Also the above mentioned word
limit be adhered to as far as possible.

(vi) There is no overall choice in the question paper. However, an internal
choice has been prouvided in some questions in each section. Only one of
the choices in such questions have to be attempted.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A
1.  Define electropositivity. 1
OR
The atomic radii of first group elements are given below :
Group-I element Atomic Radii (pm)
Na 86
K 231
Rb 244
Cs 282
State the reason behind the observed trend in the above elements. 1
3U3/2. | EER 3 P.T.0.




www.cbseboardonline.com

2. HEHISH e fRg YRR sAd 8 7 1

3. U HEA 3(a) W 3(d) = € 7S qiferent W 3meiiid 2 | 39 difeten! § afgenai & yrias
IEIUe B (TSH) o T feu U & | 39ehT AEHIH i 1 feu T8 w1 o I = feu
T 31JeRE 3R Hated I T Tehea13T] hl SIT&T o STYR W i |

Y IRER A (mU/L) f= (mU/L)
18 — 29 a9 0.4 —2.34 mU/L <0.4 mU/L
30 — 49 9N 0.4 — 4.0 mU/L <0.4 mU/L

50-7999  046-4.68 mUL  <0.46 mU/L
YPRITE IETeh BIHH o1 T I g =i feifa o afzamd e o 0=, frgy =1 5
< | T Tnt-gha o fRafa o s1ra wme sifes sifew 4 it 8 | e Ts ot §
5% AfETY B ThR hi TS 1 THEAAT § HifSd & Taich 37eh! qorl H T&SI hi
SlaRrad 3% & | 39 g o aF 9 Hl TSH 1 351 &R 3AT9eh &6F Wi o Tl H Ihg
TR, 2013 o 31299 ° 3= TSH 3R ed Wi H IS Jag &l IR 131 | 9 2017
LTI T g UTA AT o fersroent 3Aferep 311y St afgemsti U griEe TRt & w1 TSH

1 T 3 B W YTHIE HE B hI AU aldr 2 |

(a) 35 ¥ & fopeft afgen &1 TSH & 6.03 mU/L 2 | 39 & i ffd & & fow

I 379 IS H o1 TiE HETAEy 7 1

(b) Hfga Ha 3 TSH w1 e 3fteh Hehe I Hadl & 7 1

(¢) T TSH & & UfurM 1 Ieorg HifaT | 1

(d) UTRigS Uty R Efad g o I & foiu IeRer @Wivs @1 9 fafay | 1
31/3/2. E"E' 4
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2. How are covalent bonds formed ? 1

3. Questions numbers 3(a) to 3(d) are based on table given below. Study the
table in which the levels of Thyroid Stimulating Hormone (TSH) in
women are given and answer the questions that follow on the basis of
understanding of the following paragraph and the related studied

concepts.
Age Range Normal (imU/L) Low (mU/L)
18 — 29 years 0.4 -2.34 mU/L <0.4 mU/L
30 — 49 years 0.4 -4.0mU/L < 0.4 mU/L

50 — 79 years 0.46 —4.68 mU/L < 0.46 mU/L

Women are at greater risk for developing abnormal TSH levels during
menstruation, while giving birth and after going through menopause.
Around 5% of women in the United States have some kind of thyroid
problem compared to 3% of men. Despite claims that high TSH increases
your risk for heart disease, a 2013 study found no link between high TSH
and heart diseases. But a 2017 study showed that older women are
especially at risk for developing thyroid cancer if they have high TSH

levels along with thyroid nodules.

(a) A 35 year old woman has TSH level 6.03 mU/L. What change should

she bring in her diet to control this level ? 1
(b) When do women face a greater risk of abnormal TSH level ? 1
(c) State the consequence of low TSH level. 1

(d) Name the mineral that is responsible for synthesis of hormone

secreted by thyroid gland. 1

31/3/2. E' 0 5 P.T.O.
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4. ¥ HEA 4(a) W 4(d) % IW I U MU e AN AaEiad IE TS Heheu 1Al i
SITEAT o YR T &I -
feglt sy v o1 gaw Ao ST oty 2 37 HOR 6 g98 39 911 d | U g | fegd
ST % FARE HI GUdr 4.0 km? TIT R TH &% 52 km? & | TR ST
foms, raTfereRtatl &t Stet 31afd et 1000 MW Siefargd 3cd=1 i T fera ST 2 |
Tegdt wiy forg =1 fawa @1 2 | T=ien afshamamel o gt oa Sgom A 1980 § 2014
T feall =g o foig 1 3TicieM 1 Aqcd T | I8 oty wiatl o fanfaai o fawemm
T goieT UTIAA ol TATeRU(TE SHEIIHAT b 34~ B o HRUT 9T | 39 & 6 1,00,000 ¥
3AYeh FARTI 7 319 G o TR o ToTT GEhTeiE DI SIS TTel, [ideh HR0T 39
RIS % A H ¢l g3 |
(a) iAo fohd Weh T WTed <hl STl 8 7
(b) 1MW i afemn fafae |
(¢) feaht ot s famior & R areh <1 el =1 3o Hifs |
(d) T BT 8 T 3Tk SETs ¥ Wol StETe o1 et w i ST | 7

[ S

5. s ad X 3T STTHATEE ST & | 3MYeh 3T1ad Aol H 39 aw ! feafa grfl
(a) 998 1 a1 @3 H
(b) g 2 Tl Ed 3 H
(¢ §9g 13 991 37Ed 3 H
(d) d98 16 qUT3AEd 3 H 1
Jreran
X’ Forad Wil < d@n 13 7, & 91 8 i fgu e seai w fammr Hifs
(A) I8 IqIYH FTFATSE T2 |
(B) 3Heh! HASIhAl 3 & |
(C) 35 FANTES HI G XCl, 2 |
TTH HEl Y B
(a) e (A)
(b) e (B)
© (&) FAR(©)
@ Q). B AR (©) 1
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4. Answer question numbers 4(a) to 4(d) on the basis of your understanding
of the following paragraph and the related studies concepts.

The Tehri dam is the highest dam in India and one of the highest in the
World. The Tehri dam withholds a reservoir of capacity 4.0 km® and

surface area 52 km?2. It is used for irrigation, municipal water supply and
the generation of 1000 MW of hydro electricity.

The Tehri Dam has been the object of protests. Environment activist Shri
Sunder Lal Bahuguna led the “Anti Tehri Dam Movement” from 1980s to
2014. The protest was against the displacement of town inhabitants and
environmental consequences of the weak ecosystem. The relocation of
more than 1,00,000 people from the area has led to protracted legal
battles over resettlement rights and ultimately resulted in the delayed
completion of the project.

(a) How is hydropower harnessed ? 1
(b) Define 1 MW. 1
(¢) Mention two disadvantages of constructing Tehri Dam. 1

(d) What happens when water from great heights is made to fall on
blades of turbine ? 1

5. An element X is forming an acidic oxide. Its position in modern periodic

table will be

(a) Group 1 and Period 3
(b) Group 2 and Period 3
(¢) Group 13 and Period 3

(d) Group 16 and Period 3 1
OR

Consider the following statements about an element X’ with number of

protons 13.

(A) It forms amphoteric oxide
(B) Its valency is three
(C) The formula of its chloride is XClg

The correct statements(s) is/are

(a) only (4)

(b) only (B)

(¢)  (A)and (C)

(@ (A), (B) and (C) 1

31/3/2. E' 0 7 P.T.O.
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6. I Tl faerm ‘A FHTewafar faeem =1 e 2 gar 2 | faemm ‘A ° frdt 3=
St faeem B o1 e @ arst ¥ foeqe &1 5 @ | fae=q ‘A’ 3R B & e s
A HITHAE ?
(a) A YS & 2 T B goel AR 3 |
(b) A TS T3 AT B gEA AR |
(0 AFSpH7IAUF AN BHIpH 7 AHAR |

(d) AipH7 T BoipH 7§ AT 2 | 1

7. fafafea o & fead ga vered 1 e Tiafda 728 8t 2 2
CYIR-CE R IE]
(b) ToREE THAT GRI TREEAl ohT ST
(c) ST fopvar

(d) HISH & I 1

8. 3T haefr 3To I7afrsei b1 &1 Afeai A 3 B H yanfed st @ off | 7 g1 Afei @
ST o STHAT < TRIT AT | S&701 3L TR g IIAT1 771 Tk &1 A o1 STt 3TFeT 9T Sai<h 161
B o1 STl &R 91 | A 71 B o T¥ehe ferd Serefai @ —

(a) A o Tehe ATEM 3TN TUHIhRI 1 aUT B o e I ShR@Hi i |

(b) B fehe AT 31 3TIHIh 1 7T A o Tk INE-H @M ! |

(¢) A e oig daTerh aedt fuin st aerm B o fehe |Te[ 31 77Tl 1 |

(d) B fehe oic TaTeish sl fmiur i qut A o foehe I 3TR 39S < | 1

v, |28 5
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6. An aqueous solution ‘A’ turns phenolphthalein solution pink. On addition

of an aqueous solution ‘B’ to ‘A’, the pink colour disappears. The following

statement is true for solution ‘A’ and ‘B’.

(a)
(b)
©
(d)

A is strongly basic and B is a weak base.
A is strongly acidic and B is a weak acid.
A has pH greater than 7 and B has pH less than 7.

A has pH less than 7 and B has pH greater than 7. 1

7. In which of the following, the identity of initial substance remains

unchanged ?

(a) Curdling of milk

(b) Formation of crystals by process of crystallisation

(c) Fermentation of grapes

(d) Digestion of food 1
8. Several factories were pouring their wastes in rivers A and B. Water

samples were collected from these two rivers. It was observed that sample

collected from river A was acidic while that of river B was basic. The

factories located near A and B are

(a)
(b)
©

GV

S1/3/2.

Soaps and detergents factories near A and alcohol distillery near B.
Soaps and detergents factories near B and alcohol distillery near A.

Lead storage battery manufacturing factories near A and soaps and

detergents factories near B.

Lead storage battery manufacturing factories near B and soaps and

detergents factories near A. 1

9 P.T.O.
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9. i i TUEv il IRETes SHewT 1 AR et man 7 | i feun A o 1 uE 3|
ygfa s frrEa st ¢

P

C
III.I L
I:I:I B —
(a) I8 Gifed Tgfd o1 3TTes =wewuToH & e A = 5ot 508w &7 B = @R & oyl
C=3qAFIZ |
(b) FE YT FT T 1 e T & T8 A = Ie1 Twgw &7, B = @ &7
qUTC =" ? |
() J& Il TUEY &7 1 A FaTH & foad A = @ifed, B = TR &9 @l
C=3UaATHIE |
(d) I T &A1 T 8 dH A = T TUgv &4, B=@ifedaa C =3yengaa | 1

A
1 H T &l TR b &1 bl ITH ohl Flsh T 1 THE GEIHTe
(a) Stafafaed 92 TSdr 8 S g1 o1 qA1 il 2 |

(b) T FaTfaal o uedl 8 el o STERashalati i 4fd 9 YehR < a1 § & &l
arefl |

() T WUSATE |
() T mugae | 1

10. Wﬂﬁiﬁﬂﬂﬁ,ﬁﬁﬁmwsﬁﬁa% Q B, o1 ITATT Hleh fehan Aferspan afctie g
TP ST asar g ?
(a) 2Q

by 1Q
(c) 25Q
d 8Q 1
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9. A diagram of traditional water harvesting system is given below :

The statement which defines the system and its parts is

«—A

(a) This is an ideal setting of the Khadin system and A = Catchment
area; B = Saline area & C = Shallow dugwell

(b) This 1s an ideal setting of the Shallow dugwell system and A =
Catchment area; B = Saline area and C = Khadin

(¢) This is an ideal setting of Catchement area and A = Khadin, B =
Saline area and C = Shallow dugwell

(d) This is showing Saline area and A = Catchment area; B = Khadin
and C = Shallow dugwell 1

OR
The major ill effect of mono culture practice in forests is on the
(a) biodiversity which faces large destruction

(b) local people whose basic needs can no longer be met from such
forests

(¢) industries

(d) forest department 1

10. The maximum resistance which can be made using four resistors each of

. 1 .
resistance 5 Q1s

(a) 2Q

b)) 1Q

(c) 25Q

@ 8Q 1
31/3/2. E' 0 11 P.T.O.
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11. &S 7 3R TR &4%d ‘A’ % fohdl SeM™hR FTeleh &l Sfalg R’ & | 99
Hferre 3TR 9uH ugrRl o 2] SIS aTet fohet 3171 FTeTeh ohl STIITIhIC &t fehaHT BFTT ?

(a)

(b)

(©
)

A
2
3A
2
2A

3A 1

12, 3fYe SATel T 3¢ @ A1 ol 1T h1ell Td1d aidl & Hifh J&ia:

(a)
(b)
©
GV

qe:

T e SrerTeal T b TSI o1 U JehI & BT € |

Ffereh SaTel W AT Tel BT ¢ |

T[T BT TS 32T ThI ohl AUTCEA | HTH BT 81 2 |

SRTT el 1 3TR Wehifod &1 SITaT & | 1

TR /AT 13 3R 14 o 70 Q1 6y U 71u & F54 b o1 AU (A) 791 gl

T AT (R) g7 3ifehd fopam a1 8 | 39 Y41 & 98! I Tl I A feu mu +TET (a),
(b), (c) FAR (d) H A T AT |

(a)
(b)
©
D

(A) 3R (R) THI T8 & 7T (R) AheH 1 98 S 2 |
(A) 3R (R) SHI we1 8 T (R) AR 1 el A1 TE 2 |
(A) TE 2 g (R) TeAq 2 |

(A) TTetd € 9t (R) WE R |

13, siftrea (A) : foga sl 3R e, St foga amm gfeaai 9 ammra: fasmgat 1
ITART fRA AR |
RO (R) : et Tirermg <6t wlatraehar 3eeh! stae argati | aMmIa: 31faeh &l 8 70g
Tt 1 srad UTqat i gorT § e e B | 1

14. &f¥®A (A) : CH,OH, CH,CH,OH @1 CH,CH,CH,OH |1 2vft & Hee

21

HROT (R) : Al 61 Wl wrer, Fad w9 yehricrss 998 2rdl @ W U6 —CH, —
TS T Jic 2IaT &, T J0ff hEardl & | 1

S1/3/2.
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11. A cylindrical conductor of length ‘I’ and uniform area of cross section ‘A’
has resistance ‘R’. The area of cross section of another conductor of same
material and same resistance but of length 27’ is

A
(a) E
3A
(b) -
(e 2A
(d) 3A 1

12. The sky appears dark to passengers flying at very high altitudes mainly
because :
(a) Scattering of light is not enough at such heights.
(b) There is no atmosphere at great heights.
(¢) The size of molecules is smaller than the wavelength of visible light.
(d) The light gets scattered towards the earth. 1

Note : For question numbers 13 and 14, two statements are given-one
labelled Assertion (A) and the other labelled Reason (R). Select
the correct answer to these questions from the codes (a), (b), (¢
and (d) as given below :

(a) Both (A) and (R) are true and (R) is correct explanation of the

assertion.

(b) Both (A) and (R) are true but (R) is not the correct explanation of the

assertion.

(¢) (A)is true but (R) is false.

(d) (A)isfalse but (R) is true.

13. Assertion (A) : Alloys are commonly used in electrical heating devices
like electric iron and heater.

Reason (R) : Resistivity of an alloy is generally higher than that of its

constituent metals but the alloys have low melting points then their

constituent metals. 1

14. Assertion (A) : Following are the members of a homologous series :

CH,OH, CH,CH,OH, CH,CH,CH,0H

Reason (R) : A series of compounds with same functional group but

differing by — CH, — unit is called a homologous series. 1
3U3/2. | EER 13 P.T.O.
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NaOH(aq) + Zn(s) —

(i) CaCOyy +Hy0y +COy) —
(i) HCl, +H,04 -

FHYA
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ST ST (STT3) °b Torgd STTEreH o 9HT THIS W IS 19 ‘G Had aidl & | 919 39 79 ‘GY
%1 F31 §U T Ta1Ed fhaT ST 8, 1 hls AT ‘C’ ST & Torden] SU=F i o ST ohl
EEWSIE R EIt EASIACRISICIES

@

@ 3C ¥ g e

(i) B arelt iR o1 Tt fafgu |
(iii) T ‘O BT AT T T8 ? SEHT THRIT6h AW fafian |

16. TE@Ts ¢ et U1 H B ATt TR 1 3eoid R Hiad i Feifh

@

Teat FERISE 1 Qo o Y™ H Gol W@l 911 & |

(i)  ToRfTor <ht SUTRT § 1o o 0T b1 Tefeeh TH foha ST 2 |
(iii) IR Tk faeraa 4 e 1 gohel Frrmn Smar 2 |

17. @A d@l X, Y 3R 7 o 9] S e shus: 7, 8 39 7 |

(a)
(b)
(©

18. (a)

(b)

S1/3/2.

1 Tl o1 3+eh! TLHTY] TSI o Ued (3TIE) 3 H e ed Shifau |
T 11 el 1 s i9 B a3t o fered & e ¢
() X 3RY 97 (i) X 3R Z % FFFT § 5 AfiTeh 1 97 faraw |

I o1 Ufsha H I 1T T T=ITgH1 shi YfHeRT 31 IeoT@ hifvT :
(@  fafeem damem

(i) AU USATEH

&5 H IUTEIT ST S Tal o Q& B hl el S8 |
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Section - B

15. Complete and balance the following chemical equations :
1) NaOH(aq) + Zn(s) -
(i) CaCOyy +H,0, + COz(g) -
(ii) HCl(aq> +H,04 - 3
OR

During electrolysis of brine, a gas ‘G’ is liberated at anode. When this gas
‘3 1s passed through slaked lime, a compound ‘C’ is formed, which is used
for disinfecting drinking water.

(1) Write formula of ‘G’ and ‘C’.
(1) State the chemical equation involved.

(i11) What is common name of compound ‘C’ ? Give its chemical name. 3

16. Mention with reason the colour changes observed when :
(1) silver chloride is exposed to sunlight.
(1) copper powder is strongly heated in the presence of oxygen.

(111) a piece of zinc is dropped in copper sulphate solution. 3

17. Three elements X, Y and Z have atomic numbers 7, 8 and 9 respectively.
(a) Arrange them in the decreasing order of their atomic radii.
(b) Which of the three is most electronegative ? Why ?

(¢)  Write the formula of compound formed between
@1 XandyY
(1) XandZ 3

18. (a) State the role played by the following in the process of digestion.
(1) Enzyme trypsin
(i1) Enzyme lipase

(b) List two functions of finger like projections present in the small
intestine. 3

31/3/2. E' 0 15 P.T.O.
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19. (a) uiiEa o afeqme fafau |
(b) U SATER FEA < JIH Ui TR B 8 | HRY AT |

(©) Heh, T, hie R A 6l JER Y@ § Hesh 1 e fAgiia it | 58
U] o Terd groft o wam sy 2 3

T
(a) TS Hdg o FmTo § wreiTi faferToTi shi sgfirent i ST Hifu |
(b) B aTelt AAfafsran fafaw |
(¢) CFCs (FARIGITRI HTaT) ST ATTERT IUART fre 1 ShHor 1 2 7 3

20. S 39T A dTel dH R i Gl FAI3T | 19 H DI 91 HRH TR TS 6
el o AT I9E 1 Y@ RO T&1 &1 Tehell 8 A F 7 3

21. TRt fou 7T 8L T oot TaTE o 9E &1 GG TR T & 7T WL a4 a1l AT o 9t
1 gg T IR | 39 SH1 N o offe Hhlo HUATTATR |

(a) TR TGU STTER 379 J&071 <hl FE ST -
() 3R T, Hafd | o 14,
(i) Afg , Hafd o 1Ll =T T TOT01 K1 S dl F, Sl H 9L a4 s1ed diei <1
wfeeTer,
(iii) T, "afdd GG 3R Gg I 39
(b) 38 TehTUT bl Tl = IR T 1 fr5sh foiepremt S oehaT 2 2 3

22. (a) 61 o1 AU 1.33 TR Teehlalel ol a1 1.36 8 | 0 ¥ &I 91 U1y
THIFITeh TEA & 7 39 3T o fequ shron i |

(b) el ¥ Teehlgiet H feiehat: o areft Sehret Tentor 35 ey wh1 et o6 for fepeor st
it |

(c) ISR TehTUT H ST ShivT 3T 379ad 10T H HE ohi ool hiTT | 3
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19. (a)

(b)
©

(a)
(b)
(©

Define ecosystem.

Autotrophs are at the first level of food chain. Give reason.

In a food chain of frogs, grass, insects and snakes assign trophic level

to frogs. To which category of consumers do they belong to ? 3
OR

Explain the role of UV radiation in producing ozone layer.

Mention the reaction involved.

Why is excessive use of CFCs a cause of concern ? 3

20. List three factors that could lead to speciation. Which of these cannot be a

major factor in the speciation of a self-pollinating plant species and why ? 3

21. A green stemmed rose plant denoted by GG and a brown stemmed rose

plant denoted by gg are allowed to undergo a cross with each other.

(a)

(b)

22. (a)

(b)

©

S1/3/2.

List your observations regarding
i)  Colour of stem in their F, progeny
(i) Percentage of brown stemmed plants in F, progeny if F, plants
are self pollinated.
(iii) Ratio of GG and Gg in the F,;, progeny.
Based on the finding of this cross, what conclusion can be drawn ? 3
Water has refractive index 1.33 and alcohol has refractive index 1.36.
Which of the two medium is optically denser ? Give reason for your
answer.
Draw a ray diagram to show the path of a ray of light passing
obliquely from water to aleohol.
State the relationship between angle of incidence and angle of
refraction in the above case. 3
i 17 P.T.O.
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23. (a) FHITha fohT0T 3TE i TETIAT H Tendlt Shig & TIsd U T aTet Udet Tehauil Jehrar
U 1 9 gIST |
(b) dfe 38 Tehanil T IS T Tad TehTaT < Tael G & i st feam strw ar
B0 ? N

Fran
(a) ohIg Afa fehe gfse g e <l gfie g B difea 2 -
() 3H T I [hH TR S oiF HIed HL Hhd & ?
(i) 39 ISR % oH fhT TR S9U AT 8 7

(b) Torehl =afer =i <l e G o |RIeH o T + 3D o oiF 1 Tehe gise G o Tt
—3D % " i JTETTHdT Bldl 8 | 39 SI¥ ol T Hid ATl 34 @1 bl BIhd
Wqﬁ%ﬁﬁlﬁaﬂ\ﬁﬂl 3

24, Toafafaa & wro i

() Toreht amrardl dieft aftnferent < foti o frehe Trachi & ward =1 dr sfimafa 2t
B ST AT Bl & |

(i) TqAATIde fefad foh ST T grraTE! aiert v faem feen 4 3w 2

(iii) et (Sel) RIS TR i HaeH 3TIAAh o IS g &1 Sceiia (seer) frem S
7ieu | 3

g -1

25.  Hdfod TETAT-eh THThT foli@aeht ST ShifuTu foh 1 BIdT & oTd —
(1) TREFINEH STTTSE i T fohaT a1 2 |
(ii) ITH ITHITSE TR FTH T3S o 01 1T fohan I 2 |
(iil) grafa 6t S szt O sAfufrar SR S 2 |
(iv) iEh JTFTSE o TG & 1Y STu=fa fohart <iran & |
(v) T e S f e g g | 5
Sreran
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23. (a) With the help of labelled ray diagram show the path followed by a
narrow beam of monochromatic light when it passes through a glass
prism.

(b) What would happen if this beam is replaced by a narrow beam of
white light ? 3
OR
(a) A person is suffering from both myopia and hypermetropia.
(1) What kind of lenses can correct this defect ?
(11) How are these lenses prepared ?

(b) A person needs a lens of power + 3D for correcting his near vision
and —3D for correcting his distant vision. Calculate the focal lengths

of the lenses required to correct these defects. 3

24. Give reasons for the following :

(1) There is either a convergence or a divergence of magnetic field lines

near the ends of a current carrying straight solenoid.

(11) The current carrying solenoid when suspended freely rests along a

particular direction.

(i11) The burnt out fuse should be replaced by another fuse of identical
rating. 3

Section - C

25. Write balanced chemical equations to explain what happens, when
(1) Mercuric oxide is heated.
(11) Mixture of cuprous oxide and cuprous sulphide is heated.
(111) Aluminium is reacted with manganese dioxide.

(1v) Ferric oxide is reduced with aluminium.

(v) Zinc carbonate undergoes calcination. 5
OR
3U3/2. | EER 19 P.T.O.
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(1) SolaeHi o U gRI AHIRRM FEs 0 A4 §--1 ¢Sy a1 39 ifies o
I T i = HIfT |

(i) TR AT 3 Bid 2 | 3HhT HRT SIS |
(iii) Topel o1q X wg 61 TR &1 g@ii & fofu yreifites et w1 Amifsha 3IR@
i | 5

26. (a) - femmn aedt HwmEi B -
() TSI
(i) YT I ugHTEH IR |
(b) Teho AR 3R Afewm rfufshan & s faved Hifsu | 7@ &1
IR ST | 5

27. (a) g1 alxat fopm TR IcESH H HERAT hidl & 7 HaY U SATEd1 hifu |
(b)  FFRI (I ohl T IR HH HT TUH HIT | 5

28. (a) TerHl TS & afdeh™ T TSI <1 HHT G2 o T7T e ©itery 3 38 W=
few U 9T Al 3ifehd HifeT

(i) TETRU
(i) Tl
(iii) dfderm
(iv) HTET ST HifehT
(b) T 1 HE feifiay |
(¢) g5 o I 9Tl o1 T feifau it fooee o 929 () o (i) P A foepfaqaraa gl 5
Ireran
(a) “HUSH T ITAR JA Toham H AfEATeTd SHT Tl (TF9 T &) % T omweprdl gra
2 1" 31 T Tfgd 39 %y i gfy i |
(b) 7o Frreres Miferat mederor 61 Ueha ¥ ford Yeh R wgmrar Tt & ?

() feim ==mrees mifura fordi ohgd & 7 fordt Taxy w1 =8 forg bR wanifer shear
2 7 (Toret v uftomy o1 Seer@ Hifsu 1) 5
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(1) By the transfer of electrons, illustrate the formation of bond in
magnesium chloride and identify the ions present in this compound.

(11) Ionic compounds are solids. Give reasons.

(111) With the help of a labelled diagram show the experimental set up of
action of steam on a metal. 5

26. (a) Carry out following conversions :
(1) Ethanol to ethene
(1i) Ethanol to Ethanoic acid

(b) Differentiate between addition reaction and substitution reaction.
Give one example of each. 5

27. (a) How do leaves of plants help in excretion ? Explain briefly.

(b) Describe the structure and function of a nephron. 5

28. (a) Draw a diagram showing germination of pollen on stigma of a flower
and mark on it the following organs/parts :

(1) Pollen Grain
(1) Pollen tube
(i11) Stigma
(iv) Female germ cell
(b) State the significance of pollen tube.
(¢) Name the parts of flower that develop after fertilization into
(1) Seed
1) Frut 5
OR

(a) “Use of a condom is beneficial for both the sexes involved in a sexual
act.” Justify this statement giving two reasons.

(b) How do oral contraceptive help in avoiding pregnancies ?

(¢) What is sex selective abortion ? How does it affect a healthy society ?
(State any one consequence) 5

31/3/2. E' 0 21 P.T.O.
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29. (a)
(b)

30. (a)

(b)

1ferd b1 TR fAfae aer 35k ST AT 1 Ieoid Shilag |
Terelt 2ie —aed &1 AT 5 V 3 500 mA 8 | TRepfetd hITTT -
() =9 e A

(i) HRT AUE

(iii) 2% T qeh STA T FHb ZHT I Holl

Tortll 9/ WIEH | ITIRT fohT 1 T8 F&T UV <hl SRl 315 m & | AMG I8 ATEH
3 B3 H 20 m ! G W WL B, 1 YW1 U § 54 I UT&H b Wleif s <hl
feurfd, wepfd i |mes 31d IS |

a1 fopelt e Tafercass & Feilifes 13 | 39 I8 U&v1 fohan T g fafepcas 7
I Tehel g1 2 T5EH Ush <Uu 11 2 | 36 40T 3hl Wehfd o1 3eoi@ hITNT 3R g
Tafereas gr1 U= fobu ST aTet 1 T 20 <YV & 1 B &1 Rl feafay |

YA

=iy fordt gean fovms & J&f 1o s fegm = | s s A g s &
feru e fory YehR o 1@ =1 3930 foha |

@)

39 ¥ 1 Tehel o1 IJooid ShITSTT 3T $H ¥ 1 JFAFT A h1 HRUT [T |

(i) BEEET RIS 1 59 ©iF i %8l TgA1 91ey dieh fhHl foma 1 arafas 30T

Frafiiq fafses ama g1 7

(iii) 3¢ 3 78 T BhE g 10 em B 7T 39 78 1 29l T 5 om gl W @A E,
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29. (a)
(b)
30. (a)
(b)

Define Power and state its SI unit.

A torch bulb is rated 5 V and 500 mA. Calculate its
(1) Power

(1) Resistances

(1i1) Energy consumed when it is lighted for 2% hours.

A security mirror used in a big showroom has radius of curvature 5
m. If a customer is standing at a distance of 20 m from the cash
counter, find the position, nature and size of the image formed in the
security mirror.

Neha visited a dentist in his clinic. She observed that the dentist was

holding an instrument fitted with a mirror. State the nature of this
mirror and reason for its use in the instrument used by dentist.

OR

Rishi went to a palmist to show his palm. The palmist used a special lens

for this purpose.

@
(i)

(i)

S1/3/2.

State the nature of the lens and reason for its use.
Where should the palmist place/hold the lens so as to have a real and
magnified image of an object ?

If the focal length of this lens is 10 em and the lens is held at a
distance of 5 em from the palm, use lens formula to find the position
and size of the image.

23
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